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Timing of the stimulus and response,

In classical conditioning, the response (e.g. salivation)
depends on the presentation of the UCS (meat'powder)
occurring first. In operant conditioning, the presentation

‘the association of the two stumuli is often not conscious
or deliberate. In operant conditioning, the response may
involve the autonomic nervous system but often involves
higher order brain processes because the response is
conscious, intentional and often goal-directed.
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have any environmental consequence. For example, in
Pavlov’s experiments, the dog receives food whether

or not it salivated. But in operant conditioning, the
organism’s response (such as lever-pressing) operates

or produces effects on the environment (such as

the dispensing of a food pellet). These effects or
consequences, in tumn, influence the recurrence of the
response.

Classical and operant conditioning also generally
involve different types of responses. In classical
conditioning, the response is involuntary; an automatic
reaction to something happening in the environment
(such as the sight of food or the sound of a bell). Operant
conditioning, however, involves voluntary responses that
are initiated by the organism (such as throwing a tantrum
or doing homework), as well as involuntary responses.

The role of the learner

In classical conditioning, the learner is a passive
participant in the conditioning process. The learner
does not have to do anything for the NS, CS or UCS

to be presented. Furthermore, the response made by
the learner occurs automatically without them having

to make any effort or actively do anything. The learner
essentially has no control over the learning process. In
operant conditioning, the learner is an active participant
in the learning process. The learner must operate on
the environment before reinforcement or punishment is
received. The learner is neither reinforced nor punished
without performing the behaviour that produces the
consequence. In this sense, the learner has control over
the learning process.

of the reinforcer or punisher depends on the response
occurring first. The response (e.g. pushing the lever)
occurs in the presence of a stimulus (e.g. the lever). The
reinforcement (e.g. the food pellet) or punisher received
as a consequence of the response strengthens or
weakens the stimulus—response association.

In classical conditioning, the timing of the two stimuli
(NS, then UCS) produces an association between them
that conditions the learer to anticipate the UCS and
respond to it even if it is not presented. In operant
conditioning, the association that is conditioned is
between the stimulus (i.e. the lever in a Skinner box) and
the response (to push the lever). The response is either
strengthened by reinforcement or weakened through
punishment.

In classical conditioning the timing/6f the two stimuli
(NS, then UCS) needs to be very close (ideally about half
asecond) and the sequencing is vital =the NS must
come before the UCS. In operant conditioning, while
learning generally occurs fastér when the reinforcement
or punishment occurs soon aftér the response
(behaviour), there can'be a considerable time difference
between them (especially in humans).

The naturé\of the response
In classical conditiéning, the response by the learner
is usually a reflexive involuntary one (e.g. salivating or
blinking):In operant conditioning, the response by the
leamer.js usually a voluntary one (.g. pressing a lever,
using an umbrella) but may also be involuntary.

In classical conditioning, the response is often one
involving the action of the autonomic nervous system, and
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component of the learning process in that a behaviour
FIGURE 5.32 Is this an example of classical or becomes more or less likely, more or less frequent, or
operant conditioning? strengthened, depending on its consequence. In classical

conditioning, the behaviour of the organism does not
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Comparing classical and operant
conditioning

While classical and operant conditioning are two different
types of learning, they have some common features. In both
classical and operant conditioning there is an acquisition
process whereby a response is conditioned or learned. In
classical conditioning, the association of two stimuli, the
NS and UGS, provides the basis of learning. In operant
conditioning, behaviour is associated with consequences’
that follow it. In addition, both types of conditioning are
achieved as a result of the repeated association of two_
events that follow each other closely in time.
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In both types 6t conaitioning, extinction of the learned
response can oecdr. In classical conditioning, extinction
takes placé over aperiod when the UCS is withdrawn or
is no longer present and the CS is repeatedly presented
alone!{For instance, when this happened in Paviov’s
experiments, the dog eventually ceased salivation (CR)
i response to the bell (CS) alone (which had been
previously paired with the UCS). In operant conditioning,
extinction also occurs over time, but after reinforcement
iis no longer given. For instance, when Skinner stopped
reinforcing his rats with food, their lever-pressing

was eventually extinguished. In both classical and
operant conditioning, extinction can be interrupted by
spontaneous recovery. In addition, stimulus generalisation
and stimulus discrimination can occur with both types of
conditioning.

These similarities in the two types of conditioning have
led some psychologists to propose that both classical
and operant conditioning are variants of a single learning
process, especially as classical and operant conditioning
often occur in the same situation. For instance, when
“Little Albert’ learned to fear the rat, his response
(trembling) was classically conditioned. But when he
learned to avoid the rat by crawling away (a response that
had the effect of reducing his fear), that was an example
of operant conditioning. In relation to the acquisition of
conditioned emotional responses, psychologists now use
classical conditioning to account for the acquisition of the
response and operant conditioning to account for
the perpetuation (or maintenance) of the response (see
pages 000<Insert cross-ref to relevant pages in ch 13>).

There are a number of other major differences
between classical and operant conditioning. In operant
conditioning the consequence of a response is a vital









